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ECOACOR08T-ECONOMICS (CC8) 

INTERMEDIATE MICROECONOMICS-II 

Full Marks: 50 
Time Allotted: 2 Hours 

The figures in the margin indicate full marks. 

Candidates should answer in their own words

and adhere to the word limit as practicable. 

2x5 10 
1. Answer any five questions from the following: 

(a) Why demand for input is called derived demand? 

(b) What is 'mixed strategy'? 

(c) Define two-person zero sum game. 

(d) What are the economic effects of Trade Union? 

(e) What is Iso-Profit Curve? 

(What is meant by reaction curve? 

(g) Why supply curve of labour is backward bending? 

(h) Differentiate between firms demand and industry demand. 

2. Answer any four questions from the following: 5x4 20 

(a) Nash equilibrium is not necessarily unique'- Explain. 

(b) A monopsonist uses only one variable input, labor(r), to produce her output q which she sells in a competitive market at a fixed price P = 2. The production and 
labour supply functions are q= 6x+3x -0.02x* and r = 60+3x respectively. Deterhmme the value ofx, q and rat which she maximizes the profit. 

4011 



CBCS/B.A/B.Sc/Hons./4th Sem./ECOACORO&T/2021 

TeaN q = 6x +3x2 -0.02x' 9r- 60+ 3x,* eoHTPA TT ITA15-PTx, q 9Rr 

(c) State the assumptions of the Cournot's solution. 

(d) What is first movers advantage? Explain with an example. 

()Labour exploitation ocurs in the monopoly market'- Explain. 

(0 Show that clasticity of supply of an input governs the level of rent. 

(g) Distinguish between rent and quasi-rent. 

Answer any two questions from the following: 10x2 20 

(a)Rent is not income of a particular factor of production but merely an aspect of an 
income of any factor of production". -Explain..

10 

(b) What is Cartel? Use prisoner's dilemma to explain Cartel Instability. 2+8 
t f? A T1 (prisoner's dilemma) CA PTTÖA TRCYA RRiT 

(c) In a competitive set-up derive the firm's demand curve for a variable productive 
agent when more than one variable input is used. 

10 

(d) If all the markets in an economy are perfectly competitive, Pareto efficiency will 

automatically be reached-Do you agree with this statement? Give reasons. 
10 

N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 
to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 
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